28
N—TF—=9DIT7A4 35/ hBHG L XDODANRLEY (NB. 7—2) /Bl :
A=ZOT7FTH6/BE  BBHRO0T 4 — b ; (G015 +7

(Fh#EN]

AC 22, 12, L5 <H20 (+2 [BF] . +1088)

hp 47 (5d10+15)

g+, RIc+4, BEE+H4 (REOMRTEWICH L TITEM+H1R—FX)
FHiHEEE S « BBR (RBRFA) . $=IEH2(T A TLLRD L RBRFA) . HE+1

(%)

FEENIERE : 30ft.

EE1 -+ L—FY—FK=4+12 (2d64+10719~20) [&r%E], #&IT=+10 (2d6+16)
2 E—= R —=+10 (1d8+6) [BET]H & U [HIIZE]

W3 7—<— - R4 =410 (1dd4+4) [#IZE]

ER: gz =47 (1d6+4) [HIZE]. 57230t

EIE - KSR KA (RILEH) . BIT (@ —2, FA—D+6)*xmFHLE

[—f&T—42]
(A7) 18, [&K%] 14, (W] 14. [%0] 10, (3] 14, [%&] 08

HAKEAR—F R +5 . OB (BikAR—F2) +9; O (HHEs#EME) 21

B (GRIT) 1 (RBEME . JL—FY—F) F1 GOZEB) F2 (FEFHLLY) 3 (HEBE
BR: JL—rY—FR) AL =L 7F Tidfk) 5

HHe : (BE) +b. (B&§FE) +4., (&£ +6. (HE) +1, (BE) +5

S H@FE. A—VE

=t - 7% 1)394gp, 3sp, 8cp FEEINIRUK

TAI—2 b—F T5gp (#F207 1« — b DK T 55)

+1Z)L- FTL— bk 2650gp 50 FERFILTF1-3

SoET7—<— - R/N(%5 350gp 10

+H15L—bkY—F 2350gp 8

EmEE—=-2JRA— 308z 6

3 UvyJxl)r 3gp 6

RY—GR A G A=— - H—A2Y 200gp 1

Yo -FJ - HFr—-FrEAT 4000gp 1

2 R—>3y AT -Fa7-54k-9—2X 508
R—Lav-#T-Lyy—-LXrL—23> 508

EmEEAaNE 50gp 4
O— 7 #8 -50ft.) 10gp 5
4 REE 2 4

2 JK&E 2gp 8
EHFHAER 1sp 5

ARk (IR K)  5sp 1

2 FABH 2cp 2
KITEREITEE 1gp

2 [Eh¥E 4gp 2

(BEZHL0V)  (BEEF) Cleave
BIEIRBMO—HEETTHRYEI2NOBEHRETE DS,

AR - (A7) 13, (G&3T) . EAKEBAR—F X +1,

FIE BETFTHVL 30T, BORVBEVEARARBER—FTFRZAVTHEVVANOBMEREY
b, HENLUE--BABERBYICFA—VFE5Z, SLIZFORMICHEEL, ADOEAEWN
AIZWEES3TADBMICEICEARAKER—FRZHANVTENKEZTSIENTES,
DEFRZAVTOEMNKEIL. 1SYYKRIZIBAETLATEEL, COEFHRETRAN:1S
B, BIIRDEDA—2VFTT7—N— IS RI2T-20RFILT 4 %5%2T5,



